8 bis/Calcul

Objectif : S'entraîner au multiplication
1 – Je suis capable de poser et effectuer les opérations suivantes.
         A – 3689 x 627 = ………………………….
         B – 8975 x 834 = ………………………….
  ……………………..

          …………………….

x……………………..
                  x ……………………..


……………………….

        ……………………….

……………………….

        ……………………….

…………………….....                             …………………………

………………………..                              ………………………..

8 bis/ Corrigé
Objectif : S'entraîner au multiplication
1 – Je suis capable de poser et effectuer les opérations suivantes.
         A – 3689 x 627 = 2313003
         B – 8975 x 834 = 7485150
  ……………………..

          …………………….

x……………………..
                  x ……………………..


……………………….

        ……………………….

……………………….

        ……………………….

…………………….....                             …………………………

………………………..                              ………………………..

